MATH 1200 EXAM 4A SPRING 2014

NAME: ‘:;g‘)e/_ u_Clon

Show ALL of your work for full credit. Simplify yvour answers as much as possibles.
Each problem is worth 7points unless otherwise specified.
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[£3 2. Given f(z) = 2% + 2 and g(z) = z+ 1 where g(x) # 0, find the following functions
and determine its domain.
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3. Given f(z) = =3z + 1 and g(z) = —, find the function (f o ¢)(z) and write the
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domam of (f o g)(x) using set-builder notation.
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{:3/ 4. Given h(z) = ¥/2z + 1, find two function f and g, such that h{z) = (f o g)(x).
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2| 5. Write f(z) = 22° — 42 — 3 in vertex form using any method. Also identify the
vertex and axis of Symmetry
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P4 6. Given f(z) = z* + 823 + 1222,

A. Determine the end behavior of f(z)[5pt]
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B. Find the zeros of f(z) and state the multiplicities of each zero.

"f ™Y== &

y R~ SO T T
‘j‘ ‘a"ﬁ"" e A\ e
KA+ A1 3 2o
LY & - n‘/ - - !/‘,’ o ’ ooy ;:::F‘

Mot pXjei P} . a2 ( C
7. Given f(z) = z* - 8¢° 4 32? + 5z — 82, ‘evaluate f(
Theorem, and determme if (z + 2) isa factor of f (3:)
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{Br" 9. A coin is dropped from the top of Morton Hall. Its height above the ground in
feet is given by h(t) = 100 — 16¢* at ¢ seconds after it is dropped.

A. From what he1ght is the coin dropped7 ot {—,

]

! { 4
1/\[ D —_ ! D& | :,;, ;L L"",,"'

[

A {

(2)

= ‘IQCJ—F

@e. ¥

oy

0

B. At what time does the coin reach the ground?
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A. Find the domain of f(z)[3pt].
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C. Find the y-intercept[3pt]
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B. Find the z-intercept[3 t(L
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E. Fmd the Horizontal asymptote[Spt]
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D. Find the Vertical asymptqte[?»ptg
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F. Sketch the graph of f(z)[3pt]
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